Summary on LOCI

1. 4 Rules of LOCI

Given
1 fixed point
2 fixed points
1 fixed line
2 fixed lines

Phrasing
Locus of P which is 3cm from A
Locus of P which is equidistant from A and B or 

AP = PB


Locus of P which is 3cm from AB
Locus of P which is equidistant from AB and AC

Drawing





Description of drawing


A circle of radius 3cm and centre at A
A perpendicular bisector of line AB
Two parallel lines both 3cm away from AB
An angle bisector of 
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2. Construction

i) For perpendicular bisector and angle bisector, construct OUTSIDE the figure.

ii) Construct the locus FULLY

iii) LABEL all parts

E.g.
ABC is a triangle with AB as 13cm, AC as 8cm and BC as 10cm.

i) Draw the locus of P which is 4cm from C

ii) Draw the locus of P which is equidistant from AB

iii) Draw the locus of P which is equidistant from BC and BA

Spot the mistakes

3) Shading of area

Given
1 fixed point

Given
2 fixed points

Given
2 fixed lines

P is 3cm from A (P=3cm)


P is equidistant from A and B

(AP=PB)


P is equidistant from AB and AC


P is less than 3cm from A 

(P <3cm)


P is nearer to A than B


P is nearer to AB than AC


P is more than 3cm from A

(P>3cm)


P is further from A than B


P is further from AB than AC


P is 3cm or less from A
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P is equidistant from A and B or nearer to A than B




P is equidistant from AB and AC or nearer to AB than AC


P is 3cm or more from A
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P is equidistant from A and B or further from A than B




P is equidistant from AB and AC or further from AB than AC
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